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The main aim of this booklet is to exemplify standards for those teaching Cambridge AS & A Level English Language 
9093, and to show how different levels of candidates’ performance (high, middle and low) relate to the subject’s 
curriculum and assessment objectives. 

In this booklet candidate responses have been chosen from the June 2021 exam series to exemplify a range of 
answers. 

For each question, the response is annotated with a clear explanation of where and why marks were awarded or 
omitted. This is followed by Examiner comments on how the answer could have been improved. In this way, it is 
possible for you to understand what candidates have done to gain their marks and what they could do to improve their 
answers. There is also a list of common mistakes candidates made in their answers for each question. 

This document provides illustrative examples of candidate work with examiner commentary. These help teachers 
to assess the standard required to achieve marks beyond the guidance of the mark scheme. Therefore, in some 
circumstances, such as where exact answers are required, there will not be much comment.

The questions, mark schemes and inserts used here are available to download from the School Support Hub. These 
files are: 

9093 June 2021 Question Paper 21
9093 June 2021 Mark Scheme 21

Past exam resources and other teaching and learning resources are available on the School Support Hub:

www.cambridgeinternational.org/support

Introduction

Typesetting instructions: 

1.	 Paragraph 1: update subject title and syllabus code.

http://www.cambridgeinternational.org/support
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How the candidate could have improved their answer
•	 1(a) To improve their answer, the candidate needed to incorporate a wider range of language and include a few 

more complex structures.
•	 1(a) To improve their answer, the candidate needed to use a wider range of language features, for example parallel 

structures, humour, hyperbole and discourse markers.
•	 1(a) To improve their answer, the candidate needed to incorporate a wider range of less common lexis but still bear 

in mind the audience for the news report.
This section explains how the candidate could 
have improved each answer. This helps you to 
interpret the standard of Cambridge exams and 
helps your learners to refine their exam technique.

Common mistakes candidates made in this question
(a)
•	 Many candidates mixed the tenses they used in their news reports. They often jumped between the present tense 

and simple past tense and used the present tense instead of the simple past tense in the news report.
•	 Many candidates did not name the famous person.
•	 Some candidates used clichéd similes, for example ‘as if we had been hit by a truck’.
•	 Many candidates did not structure the news story in clear paragraphs. 

Lists the common mistakes candidates made 
in answering each question. This will help your 
learners to avoid these mistakes and give them 
the best chance of achieving the available marks.

Often candidates were not awarded 
marks because they misread or 
misinterpreted the questions. 

Typesetting instructions: 

1.	 Update master pages: A-Master and C-Master to show correct 
paper number, subject and syllabus code. 

How to use this booklet
This booklet goes through the paper one question at a time, showing you the high-, middle- and low-level response for 
each question. The candidate answers are set in a table. In the left-hand column are the candidate answers, and in 
the right-hand column are the Examiner comments. 

Answers are by real candidates in exam conditions. 
These show you the types of answers for each level.
Discuss and analyse the answers with your learners in 
the classroom to improve their skills.

Examiner comments are 
alongside the answers. These 
explain where and why marks 
were awarded. This helps you 
to interpret the standard of 
Cambridge exams so you can 
help your learners to refine 
their exam technique.
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Question 1

Example Candidate Response – high Examiner comments

1  The candidate effectively uses 
parenthetical dashes to add detail to 
the opening sentence.

2  The candidate names a real 
famous person, which makes the 
news story seem authentic.

3  The candidate begins the news 
story successfully, giving the most 
important details of the event.

4  The candidate writes fluently in 
this paragraph and throughout the 
response.

5  The candidate uses paragraphs 
to clearly structure the news story 
throughout.

6  The candidate includes a very 
long direct quotation from the talk. 
This results in a news report of 
about 430 words which is slightly 
over the stipulated 400 words.

Typesetting instructions: 

1.	 Question X heading in 'Main heading 18pt' paragraph style.
2.	 Insert image of candidate script for this question from file name 

indicated in the cell, into the table below in the left column, and the 
numbered comments in the right column.

3.	 In Examiner comments, all = 'Examiner comments' paragraph style.
4.	 'Total mark awarded...' in 'Examiner comments' paragraph style with 

'Bold' character style.
5.	 Do not change the column widths.

1

2

3

4

5
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Example Candidate Response – high, continued Examiner comments

7  The candidate uses some less 
common lexis in this paragraph and 
throughout the response.

8  The candidate focuses 
successfully on the impact of the 
talk, as required by the question.

9  The candidate uses some 
complex structures in this paragraph 
and throughout the response.

10  The candidate engages the 
audience and concludes the news 
story successfully.

Mark for (a) = 13 out of 15

Typesetting instructions: 

1.	 Insert image of candidate script for this question from file name 
indicated in the cell, into the table below in the left column, and the 
numbered comments in the right column.

2.	 In Examiner comments, all = 'Examiner comments' paragraph style.
3.	 'Total mark awarded...' in 'Examiner comments' paragraph style with 

'Bold' character style.
4.	 Do not change the column widths.

8

9

7

10
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Example Candidate Response – high, continued Examiner comments

11  The candidate shows an 
awareness of the importance of 
choosing an appropriate style for the 
required form of a news report for a 
school magazine.

12  The candidate provides a 
detailed analysis of the point about 
using a first person perspective, 
which shows an awareness of the 
audience and explains the intended 
effect.

13  The candidate uses accurate 
linguistic terms and provides specific 
examples from the news story. They 
follow this with a clear explanation of 
the intended effect on the audience.

Typesetting instructions: 

1.	 Insert image of candidate script for this question from file name 
indicated in the cell, into the table below in the left column, and the 
numbered comments in the right column.

2.	 In Examiner comments, all = 'Examiner comments' paragraph style.
3.	 'Total mark awarded...' in 'Examiner comments' paragraph style with 

'Bold' character style.
4.	 Do not change the column widths.

11

12

13
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Example Candidate Response – high, continued Examiner comments

14  The candidate clearly identifies 
the linguistic choices, quotations 
from the news story and explains 
the reasons for these choices, along 
with their intended effects on the 
reader.

14
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Example Candidate Response – high, continued Examiner comments

15  The candidate covers a wide 
range of discussion on the language 
choices made (pronouns, adjectives, 
repetition, simile and a list of three).

Mark for (b) = 9 out of 10

Total mark awarded = 
22 out of 25

How the candidate could have improved their answer
(a)

•	 To improve their answer, the candidate needed to incorporate a wider range of language and include a few more 
complex structures. They also needed to use a wider range of language features, for example parallel structures, 
humour, hyperbole and discourse markers.

•	 The candidate should have incorporated a wider range of less common lexis but still needed to bear in mind the 
audience for the news report.

(b)

•	 To improve their answer, the candidate needed to use more precise language and terminology to link their 
evidence with their explanatory comments.

•	 The candidate could have improved their answer by commenting on the structure of the news report, in addition to 
commenting on the form and the language used.

15
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Example Candidate Response – middle Examiner comments

1  The candidate provides a title 
for the news story.

2  The candidate uses tenses 
inconsistently in the news story, 
sometimes writing in the present 
tense and sometimes in the past 
tense.

3  The candidate does not name 
a real famous person. Instead they 
use the name ‘Jane Doe’, a name 
that is normally used when the true 
name of a person is unknown or is 
being intentionally concealed. This 
makes the news story seem less 
authentic.

4  The candidate makes some 
spelling errors in a few common 
words such as ‘crowd’ and ‘occured’ 
and some less common words, such 
as ‘mentour’.

5  The candidate spends a lot of 
time describing the life and career 
of Jane Doe. This results in a news 
story of about 480 words, over the 
stipulated 400 words.

Typesetting instructions: 

1.	 Question X heading in 'Main heading 18pt' paragraph style.
2.	 Insert image of candidate script for this question from file name 

indicated in the cell, into the table below in the left column, and the 
numbered comments in the right column.

3.	 In Examiner comments, all = 'Examiner comments' paragraph style.
4.	 'Total mark awarded...' in 'Examiner comments' paragraph style with 

'Bold' character style.
5.	 Do not change the column widths.

1

2

3

4

5
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Example Candidate Response – middle, continued Examiner comments

6  The candidate does not 
structure their answer into 
paragraphs. This affects the 
structure of the news story.

7  The news story is clearly 
written in sentences and is mostly 
accurately punctuated with some 
complex structures.

8  The candidate incorporates 
a useful direct quotation from the 
visitor.

9  The candidate could probably 
reduce the number of minor 
errors (for example, spelling and 
occasional punctuation slips) by 
taking some time to carefully check 
their answer.

Mark for (a) = 9 out of 15

Typesetting instructions: 

1.	 Insert image of candidate script for this question from file name 
indicated in the cell, into the table below in the left column, and the 
numbered comments in the right column.

2.	 In Examiner comments, all = 'Examiner comments' paragraph style.
3.	 'Total mark awarded...' in 'Examiner comments' paragraph style with 

'Bold' character style.
4.	 Do not change the column widths.

6

7

8

9
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Example Candidate Response – middle, continued Examiner comments

10  The candidate needs to use 
more precise terminology, for 
example ‘first person pronouns’.

11  The candidate provides a clear 
explanation of the simile.

12  The candidate’s comment 
on the metaphor gives a brief 
explanation about why the metaphor 
was chosen, but does not elaborate 
in detail on the intended effect on 
the audience.

Typesetting instructions: 

1.	 Insert image of candidate script for this question from file name 
indicated in the cell, into the table below in the left column, and the 
numbered comments in the right column.

2.	 In Examiner comments, all = 'Examiner comments' paragraph style.
3.	 'Total mark awarded...' in 'Examiner comments' paragraph style with 

'Bold' character style.
4.	 Do not change the column widths.

10

11

12
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Example Candidate Response – middle, continued Examiner comments

13  The candidate includes a clear 
analysis of the reasons for using 
direct quotations.

14  The candidate makes some 
clear points about some of the 
author’s language choices but does 
not comment at all on the form or 
structure of the news report.

Mark for (b) = 6 out of 10

Total mark awarded = 
15 out of 25

How the candidate could have improved their answer
(a)
•	 To improve their answer, the candidate needed to structure their news story in clear paragraphs and use more 

compound and complex sentences.
•	 The candidate needed to clearly address the audience of the writer’s peers.
•	 The candidate should have been more consistent in their use of tenses. 
(b)
•	 Although the candidate commented on the language used in the news report, to improve their answer they also 

needed to comment on the form and structure of the news report as well.
•	 To improve their answer, the candidate needed to consistently use a ‘Point, Evidence, Explanation’ format to 

analyse the form, structure and language of their news report.

13

14
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Example Candidate Response – low Examiner comments

1   The candidate misses several 
capital letters at the beginning of 
the proper nouns they use here, for 
example ‘Queen’ and ‘England’.

2  The candidate introduces 
several spelling errors in common 
words, such as ‘believe’, ‘surely’, 
‘thought’ and ‘listening’.

3  The candidate uses the 
pronouns ‘I’, ‘we’ and ‘our’ to 
successfully take on the role of a 
student reporting on the visit.

4  The candidate uses tenses 
inconsistently in the news story, 
sometimes writing in the present 
tense and sometimes in the past 
tense.

5  The candidate misses several 
capital letters at the beginning of 
their sentences.

6  The candidate does not break 
their answer down into paragraphs 
and this affects the structure of the 
news story.

7  The candidate misses several 
apostrophes, such as in ‘its’, ‘shes’ 
and ‘doesnt’.

8  The news story is only about 
220 words long. While this fulfils 
the requirement of being under 
400 words, the candidate can only 
develop their ideas in a limited 
manner.

Mark for (a) = 4 out of 15

Typesetting instructions: 

1.	 Question X heading in 'Main heading 18pt' paragraph style.
2.	 Insert image of candidate script for this question from file name 

indicated in the cell, into the table below in the left column, and the 
numbered comments in the right column.

3.	 In Examiner comments, all = 'Examiner comments' paragraph style.
4.	 'Total mark awarded...' in 'Examiner comments' paragraph style with 

'Bold' character style.
5.	 Do not change the column widths.
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Example Candidate Response – low, continued Examiner comments

9  The candidate makes a very 
general comment on the impact of 
using rhetorical questions.

10  The answer is very limited in 
terms of the number of points the 
candidate makes.  

Mark for (b) = 2 out of 10

Total mark awarded = 
6 out of 25

How the candidate could have improved their answer
(a)
•	 To improve their answer, the candidate needed to be more consistent in their use of one tense in their answer, in 

this case the simple past tense. 
•	 The candidate needed to write more accurately, with fewer errors in spelling, punctuation and grammar.
•	 To improve their answer, the candidate needed to structure their news story in clear paragraphs. 
•	 The candidate’s news story is only 220 words long. To improve their answer, they needed to develop their ideas 

and provide more detail. They also needed to focus more on the second aspect of the question: the impact the talk 
had on the students.

(b)
•	 Although the candidate commented on the language used in the news report, they also they needed to comment 

on the form and structure of the news report as well.
•	 To improve their answer, the candidate needed to consistently use a ‘Point, Evidence, Explanation’ format to 

analyse the form, structure and language of their news report.

Common mistakes candidates made in this question
(a)
•	 Many candidates mixed the tenses they used in their news reports. They often jumped between the present tense 

and simple past tense and used the present tense instead of the simple past tense in the news report.
•	 Many candidates did not name the famous person.
•	 Some candidates used clichéd similes, for example ‘as if we had been hit by a truck’.
•	 Many candidates did not structure the news story in clear paragraphs. 
•	 Some candidates did not address the audience of the news report.
•	 Some candidates wrote more than 400 words, which often meant that the news report was less carefully crafted.
(b)
•	 Some candidates focused heavily on the content of the news report. They only provided minimal analysis in such 

cases (often only indirectly) when they outlined the structure of the piece.
•	 Some candidates did not comment on the specific language choices the writer made.
•	 Some candidates inaccurately used specific terminology, or did not use it at all. 
•	 Many candidates focused on a simple identification of the features but with little or no analysis of their effect or the 

ways in which they relates to the audience and shaped meaning.
•	 Some candidates did not explore the effects of particular features of the writing in detail and did not comment on 

the form or structure of the text.

Typesetting instructions: 

1.	 Insert image of candidate script for this question from file name 
indicated in the cell, into the table below in the left column, and the 
numbered comments in the right column.

2.	 In Examiner comments, all = 'Examiner comments' paragraph style.
3.	 'Total mark awarded...' in 'Examiner comments' paragraph style with 

'Bold' character style.
4.	 Do not change the column widths.

10

9
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Question 2

Example Candidate Response – high Examiner comments

1  The candidate writes a plan 
before they begin their answer.

2  The candidate focuses on the 
question in the opening paragraph, 
which set the scene for the 
descriptive piece.

3  The candidate successfully 
focuses on describing sounds, as 
required by the question.

Typesetting instructions: 

1.	 Question X heading in 'Main heading 18pt' paragraph style.
2.	 Insert image of candidate script for this question from file name 

indicated in the cell, into the table below in the left column, and the 
numbered comments in the right column.

3.	 In Examiner comments, all = 'Examiner comments' paragraph style.
4.	 'Total mark awarded...' in 'Examiner comments' paragraph style with 

'Bold' character style.
5.	 Do not change the column widths.

1

2

3
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Example Candidate Response – high, continued Examiner comments

4  The structures are not always 
complex but the candidate’s writing 
is accurate, with very few errors.

5  The candidate successfully 
describes movement, as required 
by the question, and effectively 
incorporates some imagery.

6  The candidate uses some less 
common lexis, such as ‘swarming’ 
and ‘trudged’ in this paragraph.

Typesetting instructions: 

1.	 Insert image of candidate script for this question from file name 
indicated in the cell, into the table below in the left column, and the 
numbered comments in the right column.

2.	 In Examiner comments, all = 'Examiner comments' paragraph style.
3.	 'Total mark awarded...' in 'Examiner comments' paragraph style with 

'Bold' character style.
4.	 Do not change the column widths.

5

6

4
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Example Candidate Response – high, continued Examiner comments

7  The response is well structured 
in paragraphs, with a clear topic for 
each paragraph.

8  The candidate successfully 
focuses on describing colours, as 
required by the question.

9  The candidate uses some 
complex structures in this paragraph 
and throughout the descriptive 
piece. 

Total mark awarded = 
21 out of 25

How the candidate could have improved their answer
•	 The candidate needed to further develop and give more detail on the ideas within each paragraph.
•	 The candidate should have used a wider range of vocabulary, sentence structures and language techniques, 

example similes, personification and pathetic fallacy.

Typesetting instructions: 

1.	 Insert image of candidate script for this question from file name 
indicated in the cell, into the table below in the left column, and the 
numbered comments in the right column.

2.	 In Examiner comments, all = 'Examiner comments' paragraph style.
3.	 'Total mark awarded...' in 'Examiner comments' paragraph style with 

'Bold' character style.
4.	 Do not change the column widths.

7

8

9
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Example Candidate Response – middle Examiner comments

1  The candidate clearly focuses 
on the descriptive task.

2  The candidate uses an original 
simile to liven up the description.

3  The candidate uses some less 
common lexis in the descriptive 
piece.

4  The candidate makes some 
quite frequent errors in their answer. 
In this sentence, for example, the 
candidate writes ‘the occasionally 
breeze’ and spells ‘appearance’ 
incorrectly.

Typesetting instructions: 

1.	 Question X heading in 'Main heading 18pt' paragraph style.
2.	 Insert image of candidate script for this question from file name 

indicated in the cell, into the table below in the left column, and the 
numbered comments in the right column.

3.	 In Examiner comments, all = 'Examiner comments' paragraph style.
4.	 'Total mark awarded...' in 'Examiner comments' paragraph style with 

'Bold' character style.
5.	 Do not change the column widths.

1

2

3

4
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Example Candidate Response – middle, continued Examiner comments

5  The candidate structures the 
answer well into paragraphs, with a 
clear topic for each paragraph.

6  The candidate successfully 
focuses on describing sounds, as 
required by the question. They 
incorporate some metaphorical 
language.

Typesetting instructions: 

1.	 Insert image of candidate script for this question from file name 
indicated in the cell, into the table below in the left column, and the 
numbered comments in the right column.

2.	 In Examiner comments, all = 'Examiner comments' paragraph style.
3.	 'Total mark awarded...' in 'Examiner comments' paragraph style with 

'Bold' character style.
4.	 Do not change the column widths.
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Example Candidate Response – middle, continued Examiner comments

7  The candidate uses some 
complex structures in this paragraph 
but there are several errors such 
as the incorrect spelling of ‘among’, 
‘squirrel’ and ‘occasion’, and a 
missing apostrophe in ‘park’s’. 

8  The final sentence of the 
paragraph does not flow well.

7

8
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Example Candidate Response – middle, continued Examiner comments

9  The candidate focuses on 
describing colours, as required by 
the question, but not in as much 
detail as the description of sounds.

10  The candidate focuses on 
describing movement, as required 
by the question, although not in as 
much detail as the description of 
sounds.

Total mark awarded = 
13 out of 25

How the candidate could have improved their answer 
•	 	To improve their answer, the candidate needed to further develop and give more detail on the ideas within each 

paragraph.
•	 The candidate needed to focus more on colour and movement in their description, as the question demanded.

10

9
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Example Candidate Response – low Examiner comments

1  The candidate begins with a 
reasonable focus on the descriptive 
task in the opening paragraph, 
although with very frequent errors, 
such as incomplete sentences, 
a spelling error in ‘chirping’, an 
unnecessary apostrophe in ‘bees’  
and a missing apostrophe in ‘I’m’. 

2  The candidate does not always 
write in complete sentences.

3  The use of tenses is 
inconsistent throughout the 
response, with verbs in a mixture of 
present tense and past tense.

4  The candidate writes in 
narrative form and only provides 
a small amount of the description 
required by the question.

Typesetting instructions: 

1.	 Question X heading in 'Main heading 18pt' paragraph style.
2.	 Insert image of candidate script for this question from file name 

indicated in the cell, into the table below in the left column, and the 
numbered comments in the right column.

3.	 In Examiner comments, all = 'Examiner comments' paragraph style.
4.	 'Total mark awarded...' in 'Examiner comments' paragraph style with 

'Bold' character style.
5.	 Do not change the column widths.
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Example Candidate Response – low, continued Examiner comments

5  The candidate’s expression 
is basic, with frequent errors, 
for example (in this sentence), 
a missing full stop before ‘it’ and 
spelling mistakes in ‘exhausted’ and 
‘to’.

6  The candidate loses control 
of their writing in this 55 word 
sentence, with two missing full 
stops.

Typesetting instructions: 

1.	 Insert image of candidate script for this question from file name 
indicated in the cell, into the table below in the left column, and the 
numbered comments in the right column.

2.	 In Examiner comments, all = 'Examiner comments' paragraph style.
3.	 'Total mark awarded...' in 'Examiner comments' paragraph style with 

'Bold' character style.
4.	 Do not change the column widths.

5

6
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Example Candidate Response – low, continued Examiner comments

7  Overall the candidate does 
not fulfill the descriptive task 
successfully. Much of the content 
lacks relevance and the candidate 
does not develop their descriptive 
ideas.

Total mark awarded = 
4 out of 25

How the candidate could have improved their answer
•	 To improve their answer, the candidate needed to write consistently in one tense, either the present tense or the 

simple past tense.
•	 The candidate should have written more accurately with fewer errors in spelling, punctuation and grammar.
•	 The candidate should have maintained their focus on the descriptive form of the task, rather than narrative.

Common mistakes candidates made in this question
•	 	Many candidates wrote a narrative response to the question, with insufficient focus on descriptive detail.
•	 	Many candidates mixed tenses and often jumped between the present tense and simple past tense.
•	 	Some higher level answers used a slightly restricted range of complex structures.
•	 	Some lower level answers tried to write in complex sentences, which resulted in a loss of control of sentence 

structure.
•	 	Some candidates did not structure their answers in clear paragraphs. 
•	 	Some candidates wrote fewer than the stipulated minimum of 600 words. This usually resulted in a lack of 

development and/or task fulfilment.
•	 	Some candidates didn’t check their work. This would have eliminated as many technical errors as possible.

7
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